[ Efficiency vs vertpos |

~ 0.5

20.45
4
2 04
(8]
$0.35
0.3
0.25
0.2
0.15

ettic

o -
O J_G- 1 11 1 I 1 11111 1 1 % 1 L 111
= LS :
© = LTI +
& 1.0sE{FH4+
o 4
E ; 4
1 <0 b |- e
E JRER S 1
0.95E

DQ
Efficiend —— B3

1072 107 1

10 0?
TP vertr (cr%)

MKEIT_TToriginal
mkFit_ TTNEWHS-improved
mkFit_TToriginal-101

mkFit TTNEWHSMS-improved

=Z=Z

~ 0.5

R R e
w0 . . . . .
L S e S SR
> : : : : :
2 : : : : :
TRy T S S S
O R LR L IS S
77| SR SOROE ORI SORONE SRR

ettici

0.2

0.15F

0.1
0.05
0

NI Y

1]

Ratio

0.9

0.8

A T P
i 1[1T[

[ —
n %
e
. +

=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.5

> R
O 0.45F - -prrrrriveeens R sy T A
£ 5 A
T e A
£0.35F -+ -breriee b

0.952

._.
i
"
e
——
=
=%
_H.I—

4 E
T:o 8

=2

0-15 -10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


